FIMMN—IILEBHYTRRIBRDEHYH—KE

[$:#)—7) 201846 A30H (1) =&MmRAEIHLAESBMLE
JIL—TA
RFC | XF» 7v | mEFC B | 2 BR|ER| KR | JK| B
RMFC 0 — 8|0 — 6 v 0] o0 0] 0| 14]|-14] 3
XKy 7|8 — 0 0 — 0 /\ 1 1 4 | 8| 0] 8 1
MEFC |6 — 00 — O 1| 1 416 | 0] 6] 2
J)L—7B
FHHY | L7AVINE | FCSHET B | 2 BR|ER| KR FE|IEA
S 1 — 31 —0 v 110 31 2|3 ]|-1] 2
Ly | 3 — 1 1 — 0 /\ 2 | o 6 | 4 1 3 1
FCSET |0 — 1|0 — 1 0] o0 ojlo| 2]|-2]3
JIL—7C
Xk My | POT4R | Z5SSS | 70| B | & BR|FR|XR| /X IEAL
Xk My 4 — 4|2 — 0|8 —o0] 2| 1 7 |14 4| 10] 1
TOT4A | 4 — 4 3 — 1o —o0o] 1] 2 517 5| 2] 2
=%sss |o — 2|1 — 3 1t — o] 1o 3|1 2|5 ]|-3] 3
5954V 0 — 80 — 0|0 — 1 0| 1 1 0| 9| -9]| 4
J)L—7D
FRY=% | JFU—L | SKFCJ | HHESC | B | & BR|ER| KR |G| AL
FHRY=45 2 — 00— 21 —0] 210 6 | 3| 2] 1] 3
JRY—L 0 — 2 0o —7/0—-—3]o0]o0 o| o 12]|-12] 4
MKFCd |2 — 0|7 — 0 2 — 3] 2] o0 6 | 11| 3] 8| 1
H#HEsc o — 13 — 0|3 — 2 2|10 6 |l 6| 3| 3] 2

* SHEHH RIL—TEH150—59—157¢LT D

* BT I —TD1HELE26H2H B DRMBEF—F A IAER  SELUTIETIL R —BiA~

* F1V—FDTN-TAL E2V-FDY V-7B. EIV-F DY I-7C. F4/-F DT L-TD~NAS
U—FRIEXRYT ST4=5. LT ILMKFC, FCTOT4R, D IKFCID)EGLET S




